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WEST BENGAL STATE UNIVERSITY
B.A./B.Sc. Honours 2nd Semester Examination, 2022

ECOACORO03T-EconoMIcs (CC3)

Time Allotted: 2 Hours Full Marks: 50
The figures in the margin indicate full marks. aNfer T F0Z T IMo Q"Y/VW fac Fed1
Candidates should answer in their own words AT TS ST I AET XTI N
and adhere to the word limit as practicable. s R
I. Answer any five questions from the following: 2x5=10
fasfeiie -l #fipfs elvas Ted wies

(a) Distinguish between stock and flow variables in Economics.
ST SIS @ Sfewy verifeE #i1dy ey St

(b) What is transfer income?
B R FICF T 2

(c) What is paradox of thrift?
freqirets Siefrefcaiy Sl 0 ¢

(d) Distinguish between fiat money and commodity money.
wiol-feree o @ w3y Sl ey ALy el e

(e) What are the motives of holding money as proposed by Keynes?
@R o S pifewia el [ & 9

(f) What is inflation tax?
TMFHIfe 39 FICE 0 9

(g) Define GDP deflator.
GDP S7PiRei1dl WAl deflator-@d FRE! 1S |

(h) When is LM-Curve horizontal?
LM G Y Se[gfs &3 2

(1) Distinguish between fiscal and monetary policy.

ey e ¢ Wi Nfea Ny Tt

2. Answer any four questions from the following: 5x4 =20

fsEke @-iet 51Ff6 2tia Ted wies

(a) Show that national saving is the sum of private saving and government saving. 5

@A (T ATFIA HARY 8 @RI AL TN T AL |
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(b) “Money supply is proportional to monetary base”. — Explain. 5
“Irefa @i Wi fofea Sgenfes” — it s
(c) What are intermediate goods? How are these dealt with by the value added 243

method of measuring GDP?

T[ES] T I A 9 Lo TG w6 GDP Nl (heq et G il
e

(d) What is natural rate of unemployment? How does it depend upon the rate of ‘job 2+3
loss’ and the rate of ‘job finding’ each time?

AFOT @RI 2T IS G ¢ 37 oI afel TEe o FHRTor 8 saifer
@R Tolca a5 9

(e) What are the tools of monetary policy? Discuss any two of them which can 1+4
combat the inflationary situation of our economy.

wifdsifen afeamels & & ¢ @@ 9 e e 3@ @ ot admwEw
JarFifed AffEe aRen s 2

(f) “Cost push inflation can generate ‘stagflation’ in an economy” — Explain. 5

@ SRER RGNS JurEle frpeel e’ i FCe “NE” — i F9

3. Answer any two questions from the following: 10x2 =20
fasfeie - 7 evs Teq wies
(a) Explain the identity of national income, national output and national expenditure. 10

GIOR BIY, TSI AW 8 TSR AR SCew & 1l T

(b) In a closed economy, a fiscal policy change may not produce a multiplier effect 10
on income — Discuss.
a6 Im JLGIET THFIET ATrFAed 2R T SN T27 @diF el e
RPET0O 2N —  SACEDA ST

(c) Derive aggregate demand curve from IS-LM model. What causes aggregate 8+2
demand curve to shift?

IS-LM (&& (AeF (N5 sifgwt @t e s & & i i vifw @ag sifdees
(shift) =¥ Srad |

(d) Write notes on: (i) Liquidity trap  (ii) Investment multiplier 5+5
ERalGEH (i) ORCTR T (i) Rfvcne were

N.B. : Students have to complete submission of their Answer Scripts through E-mail / Whatsapp
to their own respective colleges on the same day / date of examination within 1 hour after
end of exam. University / College authorities will not be held responsible for wrong
submission (at in proper address). Students are strongly advised not to submit multiple
copies of the same answer script.
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WEST BENGAL STATE UNIVERSITY
B.A./B.Sc. Honours 2nd Semester Examination, 2022

ECOACORO04T-EcoNnoMICs (CC4)

STATISTICAL METHODS FOR ECONOMICS-I

Time Allotted: 2 Hours Full Marks: 50
The figures in the margin indicate full marks. aNfer T F0Z FYMo Q"Y/VW fac e
Candidates should answer in their own words AT [NCST ©IRNF TR TG AT AT M
and adhere to the word limit as practicable. s R
I. Answer any five questions from the following: 2x5=10
fasfeiie @-ieat #fipfs elvas Ted wiss
(a) Define sample.
T FeCe [ @I 2

(b) Explain with example ‘discrete’ variable and ‘continuous’ variable.
Tzl RANCs! fifoRs boTe @k wifivzal betcnel I Al

(c) What is Lorenz curve?
@RS @ 9

(d) Calculate geometric mean of 2, 4, 8, 16, 32.
2, 4, 8, 16, 32-93 @IIeF G 7 T

(e) In a moderately skewed distribution, AM =24.6 and mode =26.1. Find the value
of the Median.

35 efeEToE s @FF 9T =24.6 @38 RAIRVFE F =26.11 TGN A
el ez

(f) 8x—10y+66=0 and 40x—18y—214=0 are two regression lines. Find
correlation coefficient.
8x—10y+66=0 @R 40x—18y—214=0 ¥io fTeae 7iFael| 72olfs seoim faefy
M

(g) What is wholesale price index number?
“oBFIR wIN P T A0 9

(h) What is cyclical fluctuations?
e Ryfe & ¢

2. Answer any four questions from the following: 5x4 =20

fsEe @-iet 51Ff6 2tia Ted wies

(a) Compare mean, median and mode as measures of central tendency.

U 2RO AR 210 91T, Nl @R FAIWTE N QERETP SCEb=] S|
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(b)

(1) Define Ogive.
‘Ogive’-@3 7Rl WG|

(i) Draw a pie chart using the following data.
fese w2 I9RiE a9 J8iba wFe |

Sectors (i) Expenditure (in thousand rupees)
¥ (YT BIPI)
Agriculture (F) 48.5
Industry (f%) 30.7
Irrigation  (&&1CD) 11.5
Transport (~ifd<2el) 15.4
Miscellaneous () 6.4

(c) Show that Z|xi —A| is least if 4=Median .
i=1

wAe @ Zn:|xi—A|—u‘1§IWW®WA= S
i=1

(d) Show that —1<r_ <+1 r, =correlation coefficient.

oA A —1<7, <+ 1, =TS FRAF

(e) The first three moments of a distribution about the value 3 of a variable are 2, 10

6]

and 30 respectively. Obtain the first three moments about 0. Also find the
variance of the distribution.

@36 Retead 3-93 MeoleF & foqfb ‘moment’-@3 W FAEC 2, 10, @k 301
OIEE 5o AIRF 0-97 ACHTF 22 fS7% moment-@3 S 67 T Rereta cow
= faefa T

Explain whether correlation coefficient is independent of origin of reference and
the units of measurement.

wi beICR W FRofe FRANR-GF W FRTE SREA ¢ Gh T TR feq Fea
[SREEIEI

3. Answer any two questions from the following:
T @-ieal 7f6 @eie Ted mies
(a) (1) Find the standard deviation of the series: 1, 3,5, 7, ....... , 25.
facsa i s Rgfe Fdfad was 1,3,5,7, ......., 25.
(i1) The number of runs scored by cricketers A and B during a test series for each
of the 10 innings is shown below:
@0 (TR A @ B-@7 10 {6 2fecem i oo et 2o1e
A | 34 | 36 | 45 | 75 | 12 | 61 | 40 | 58 | 82 |11
B | 47 | 38 | 52 | 42 | 36 | 54 | 48 | 34 | 50 |54
Make a comparative study of their batting performance.
TR IR wwo gorl Sl
2061
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(b) (i) Discuss different measures of skewness.
eifotaac f[fen Azl Sicma FEi
(i1) Find the median from the following data.

fova #ifea e e e Wi [T s

Weight in kg
(e& i) 36-40 | 41-45 | 46-50 | 51-55 | 56-60 | 61-65 | 66-70
No. of person
(ETRRAM) 14 26 40 53 50 37 25

If mean is 54.3 kg, comment on the shape of the distribution.

M AT 54.3 kg 2 OR W SNPR Faws 23 2

(c) (1) Why do we have two regression lines? Explain.
& =t 1o freqe @it #i1ig ¢ it S

(i) A group of workers of a factory is ranked according to their efficiency by two

different judges as follows.

72 T @I FRAMR qIve fF oitmd Fwwe! S rank FCE

Ve [RBICR rank - @& 0w (et 2@

Workers AlB|lc|D|E|F|G|H]| T3]
Judge-1 41816711131 21]15]10]09
2o b

Judge-2 3090651121417 8110
faor fos

Calculate rank correlation coefficient. Explain the result.

TRT Weifs @ [T et Tea U T

(ii1) State the limitations of correlation coefficient ;.
2olfS RN (7, )~ =] ez Sl
(d) (i) What do you mean by time series?
el AR TeT0e 6 @I 9
(1) Fit a trend line to the following data and estimate the trend value for 1994.
s eme w2y (e A ekeel ATPad Al SEl1 Son8 AER eRAOR T+

foefy el
Year (37e7) 1983 | 1984 | 1985 | 1986 | 1987 | 1988 | 1989
Price-index (WIS 7<) 82 76 72 69 68 70 72

N.B. : Students have to complete submission of their Answer Scripts through E-mail / Whatsapp
to their own respective colleges on the same day / date of examination within 1 hour after
end of exam. University / College authorities will not be held responsible for wrong
submission (at in proper address). Students are strongly advised not to submit multiple
copies of the same answer script.
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WEST BENGAL STATE UNIVERSITY
B.A./B.Sc. Honours 2nd Semester Examination, 2021

ECOACORO03T-EconoMIcs (CC3)

Time Allotted: 2 Hours Full Marks: 50

The figures in the margin indicate full marks.
Candidates should answer in their own words and adhere to the word limit as practicable.
All symbols are of usual significance.

1. Answer any five questions from the following: 2x5=10

T @-Cieat #fpfe elvex Tex wiss
(a) Define national income.
IS SR TG Wi |
(b) What does the Consumer Price Index measure?
(O WICR IHCF NCH 6 wAfRwI11 01 237 9
(c) When is IS curve vertical?
IS (A 4 TFF R 9
(d) Distinguish between Nominal and Real GDP.
W2 € 2F® GDP-A AL Tra I
(e) What is circular flow of income?
e 6 2R < 9
(f) How is joblessness measured?
TRl [Pl wifwiel T = ¢
(g) Define M, and M,.
M, 8 M,-a9 IR 18 |

(h) What is money multiplier?
LT @I FIE 0 9

2. Answer any four questions from the following: 5x4 =20

fsEe @-iet 51Ff6 2via Ted wies

(a) Explain the value added methods of measurements of National Income with
suitable example.

ToRye Triesel el T Y& siafore Gior o el i el

(b) Explain the loanable fund interpretation of the IS curve.
A< SRR [S @RI LI=eNs i<y B |
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(c)

(d)

(e)

®

(a)

(b)

(c)

(d)

2011

Write a note on forms and functions of money.
S IR Tl 8 PICe T Bl A

Define inflation. Distinguish between demand pull and cost push inflation.

TERIfed wRe wie | bifnid 3 @ 43053 biers e S@rRifed 211w SIEsa Sl

Is GDP a satisfactory index of economic well-being of the people of a country?

GG Sreredid T TeAWIE @F Mo WL IR FS[EF p< RO [awat
1 5 T ¢ SNCEAB FA

Discuss the role played by unplanned changes in inventories in bringing about
equilibrium in the Simple Keynesian model.

I (FEAAY ACGCH BN S el a S=ifaizre srege #{eeli #faes gisme el
I

Answer any two questions from the following:
fasfie @-ce 7 evs Teq wies

Explain the crowding out effect in the IS-LM model. What are the factors on
which the slope of the LM curve depends? What does a point off the LM curve
imply?

IS-LM SIS SIS BTs 2ol it It @Fie [anefer $2h LM @27 oiet fre
F(E 9 LM @3 A%E @56 7 5 o 72w 37 9

Why is the value of balanced budget multiplier in IS-LM model usually less than
that in Simple Keynesian Model? When these two are equal?

FRE (PP NOER Ge 1S-LM S SRS ST SEa e AETS I 27
(P 9 L G2 QIR W+ A (S 9

How is credit created by commercial banks under fractional reserve banking

system? What are the limitations of this process?

IR Tw Piw I AT TF FeT A Jeew afei g FEh @@
BT ANREerefer Srae S

Describe the costs of expected inflation.

aejife JurRifos IR Meete I T

N.B. : Students have to complete submission of their Answer Scripts through E-mail / Whatsapp
to their own respective colleges on the same day / date of examination within 1 hour after
end of exam. University / College authorities will not be held responsible for wrong
submission (at in proper address). Students are strongly advised not to submit multiple
copies of the same answer script.
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WEST BENGAL STATE UNIVERSITY
B.A./B.Sc. Honours 2nd Semester Examination, 2021

ECOACORO04T-EcoNnoMIcs (CC4)

STATISTICAL METHODS FOR ECONOMICS-I

Time Allotted: 2 Hours Full Marks: 50

The figures in the margin indicate full marks.
Candidates should answer in their own words and adhere to the word limit as practicable.
All symbols are of usual significance.

I. Answer any five questions from the following: 2x5=10
feaferiae @-cieat =5 @ Te nies

(a) Distinguish between a variable and an attribute.

BoT R afNIs-a7 ey e Mo st

(b) With examples distinguish between class limits and class boundaries.

TR @A st € @A s Wy A1 ot e

(c) Briefly discuss the Pie-diagram as diagrammatic representation of statistical data.
AifRrerarR fHraa M Torgeme &S 21 e g REFG S st

(d) Give two examples where Median or Mode is used rather than Arithmetic Mean
as a measure of Central tendency.
v{G Triggel Srard TCal (R (o oG 72, Wl 1 FRAE A 2 AR O (T
2RereI “AfRoF |

(e) If the Arithmetic Mean and Geometric Mean of two positive real numbers are 10
and 8 respectively, find their Harmonic Mean.

G A 4RI TR (A 5 G SN NG TAFE 10 9K 8, ©lend [ (qoe
oG fef St

(f) What is seasonal fluctuation?
TS 2R FIE AT 9

(g) In a moderately skewed distribution, the mean, median and coefficient of
variation are respectively 50, 53, and 20%. Find coefficient of skewness.

O Seifoas @ (b ReIetaa CHig e, Jal @R (SRIR-GF e IS 50, 53 @R
20% 2o 2AfSETT-aa e el Tt

(h) What do you mean by Index numbers? Explain its utility in Economics.

TS W2 EICe [ @I 2 NLTO0e-97 SAIO! SN0 el |
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2.

Answer any four questions from the following: 5x%4
fafeiie @i 516 eives T mies
(a) What do you mean by a semi logarithmic chart? Point out its advantages over a

simple line diagram.

G walifamis (e7efbd FICE FCeT ¢ A @RICaa weriy @3 FRaief Srard i

(b) Prove that AM > GM > HM for any set of positive values.
el SR @GP FRAF G oA~ &) (ToIF 5@ > @eiles 9 > [ a1y
(c) Explain the utility of measures of Relative dispersion.
o fgfen sifRwistefm Soicaire] i S|
(d) Discuss briefly different types of kurtosis.
SrFol ffen gamefe SREe! Sicsval S|
(¢) Prove that by, xb,, = r?, where r is equal to correlation coefficient,

b, = regression coefficient of y on x and b,, = regression coefficient of x on y.

e S @ b, xb,, = r?, @A r = 72olfoq 72Z, b, =y on x-49 om0l 725M=F
@R b =x on y-aF fTeaed 72al%|

xy
(f) Explain different components of Time Series.

T A [feq Soimiae e sies F @

Answer any two questions from the following: 10x2
fasfeie @-ce 7 et Teq wies

(a) (i) What are the desirable properties of a good measure of Central tendency?
Compare mean and mode in light of these properties.

GF6 SICET (LR &Aere] HAfRNAF-97 P (@Bl Trad wea1 g @RiEelem
AR QoI MC 8 IS -7 G0 GNP S S|

(i) Show that the weighted Arithmetic Mean of first » natural numbers whose
weights are equal to the corresponding numbers is equal to (2n+1)/3.

2T 5 FOIRF MAF ©F WET RAF A 20, 2= FE@ @Ae @ 22 5
o Y ORYS (@9 MC-a3 A+ (21 +1)/3 ZAN

(b) (i) Explain briefly why standard deviation is regarded as superior to other
measures of dispersion.
e Rpfe @ s [Rgfen st (e @ arzeiay 9

(i) The mean and standard deviation of a sample size 10 were found to be 9.5

and 2.5 respectively, later on an additional observation became available. It
was 15 and was included with the original sample. Find the mean and
standard deviation of the 11 observations.
10 WpREE G3FH TI9= 8 @32 TF RYT TANECT 9.5 @R 2.51 AT A8
QT T AN It R A 151 ©12ee 1175 TR 918 @k 7 [Kpgfe e 23 9

(¢) (i) If three uncorrelated variables x;, x,, x; have same standard deviation, find

the coefficient of correlation between (x; +x,) and (x, + x;3).
TR ol BT x,, x,, x, -3 NG RYFeR FMF TG 2, (x, +x,) 4R
(x, + x;) -7 725 @elicEa T e S|

2061 2
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(ii)

(A)

(B)

(d) ()

2061

(ii)

N.B.:

From the data given below:
fCs eve e (Icss
Marks in Economics
SfoTs 2iie T 2512835132 |31|36(29 |38
Marks in Statistics 43 146 149 | 41136 132131130
AR ate 779
Obtain the two regression equations.
fareael ai-wa1 ol el
The most likely marks in Statistics when the marks in Economics is 30.
T4 SLSF el 79 30 T4 ARSI 78Iy 791 97 Tl
Calculate price index number for 2020 with base year 2010 using the
weighted Arithmetic Mean of price relatives from the following data.
f0s eime 2 (AF 2010 A-F fofe-3=d 4@ 2020-93 357 76F w27l 7 T
W SeAfeT ormfox SRS (5 G 2iatere |
Commodity | Price (}) WIN (3117) | Weight
() 2010 2020 | (¥%9)
A 30 52 8
B 25 30 6
C 130 150 3
D 35 49 5
E 70 105 7
Using the data given below, fit a straight line trend equation by the method
of least squares and estimate the value for 2022.
0 ave SR AR, R 39 sEfore a3 e @RS ekt e e
TN 2022 FCETE @A<eror A el w1
Year 1013 | 2014 | 2015 | 2016 | 2017 | 2018 | 2019 | 2020
(<29)
Value
380 | 400 | 650 |720 |690 |600 |870 |930
()
Students have to complete submission of their Answer Scripts through E-mail / Whatsapp

to their own respective colleges on the same day / date of examination within 1 hour after
end of exam. University / College authorities will not be held responsible for wrong
submission (at in proper address). Students are strongly advised not to submit multiple
copies of the same answer script.
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WEST BENGAL STATE UNIVERSITY
B.A./B.Sc. Honours 2nd Semester Examination, 2020

ECOACORO03T-EconoMIcs (CC3)

Time Allotted: 2 Hours Full Marks: 50

The figures in the margin indicate full marks.
Candidates should answer in their own words and adhere to the word limit as practicable.
All symbols are of usual significance.

1. Answer any five questions: 2x5=10

-(ICAl #AipTs @it Ted wies

(a) How is personal disposable income computed from GNP?
Jf&re 7 @l =T GNP (A [Foi A w1 97 ¢

(b) What is paradox of thrift?
fregfreir wieite [ Fiee e ¢

(c) Explain the implication of a point off the IS curve.
IS @47 Afes {7 & oo <53 9

(d) What is inflation tax?
JAPEFIS F9 FICF 0 2

(e) What is demand pull inflation?
bifewia 3fa S JFFIfe FIF 0T 9

(f) Mention two anti inflationary policies.
YIS @ik i |ite Sear el

(g) What is Investment multiplier?
ffecet was fF 9

(h) What is liquidity trap?
ORI FI7 FIE A0 9

2. Answer any four questions: 5x4 =20
CA-(ICA BIATG @leael Tae wies

(a) What is value-added method? Explain with example.
O FREAG AN FIF 0 9 SWIZgeT2 I FCl |

(b) Explain why government expenditure multiplier is positive but tax rate multiplier
is negative?

TR LA BT LS TS T QYT B ANIF T (e 9

2011 1 Turn Over
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(c) Write a note on inflation.
JUrFIReT TR @S5 BIset Tel |

(d) Determine the equilibrium national income in the simple Keynesian model stating
all the assumptions.

B ST S T IR (A NG SIS Thord iy izt et
(e) What is value added method? Explain with example.

e FREAG Ao FIE 6 2 Swiggel e i el
(f) How central bank controls money supply in an economy?

@I O T FHT AT [Fei@ e @i FwEe 5 9

3. Answer any two questions: 10x2 =20
- 715 elva Tee mies

(a) Explain the identity of National Income, National Product and National
Expenditure.

RO O, SO B @ TSI (AT SCSw(b W T |

(b) “Fiscal and Monetary policies differ in their impact on the composition of
aggregate national output” — Explain.

“ITIEl GIOR SR 0 T2 efeR JfEcs Aer Sife ¢ wifds Fifod g gy o7
IAIRN” GG RAT

(c) Explain the crowding out effect in the IS-LM framework. How this can be
neutralized?

[S-LM SIS Sios e e 2eRib i 36l | [Foi 2 2folq ewe 1 a7 9
(d) Write a comparative note on Classical and Keynesian system.

i o AR @R (TR oY 5 T @F T geaEs Sl @eal

N.B. : Students have to complete submission of their Answer Scripts through E-mail / Whatsapp
to their own respective colleges on the same day / date of examination within 1 hour after
end of exam. University / College authorities will not be held responsible for wrong
submission (at in proper address). Students are strongly advised not to submit multiple
copies of the same answer script.
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WEST BENGAL STATE UNIVERSITY
B.A./B.Sc. Honours 2nd Semester Examination, 2020

ECOACORO04T-EcoNnoMIcs (CC4)

STATISTICAL METHODS FOR ECONOMICS-I
Time Allotted: 2 Hours Full Marks: 50

The figures in the margin indicate full marks.
Candidates should answer in their own words and adhere to the word limit as practicable.
All symbols are of usual significance.

I. Answer any five questions from the following: 2x5=10
T @-Cieat #fpfe elvew Tex wiss
(a) What is primary data? Explain with an example.
el A Oy FICE 0T 2 Trizde FREN! A1 FCE |
(b) State two uses of Geometric mean.
QTSR 90T 710 = T
(c) What is coefficient of variation?
(oI JICF 0T 2
(d) Show that if all values of the variable are equal, standard deviation is zero.
WANS (@, W (I HeTCHE I A e TN 27 O Herpiva o ([pyiod 3 %[+ 2(J |
(e) What do you mean by Kurtosis?
Pl E00 I Q@IRI 9
(f) What is Trend in time series?
Fa AR 2[ere! P 6 9
(g) Mention two uses of index number.
o IR Y10 FIRF TR A
(h) What is a life-table?
QI -2F IS T 9

2. Answer any four questions from the following: 5x4 =20
T @-ieal 5o @eie Ted mies

(a) Show that %z " (x;—A)* is least when 4 = Arithmetic mean of x, where 4 is

arbitrary constant.

e @, L (x, - 4)7 9T W O RO =W I 4 = x 47 (TR oG A,
@A 4 9T &< |
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(b) Discuss how scatter diagram can be used to explain the degree and type of
association between two variables.

7S 5AER T A WG @R TRIR &FS o w47 T el Fite fog a<ae
AR AN FCAT

(c) For the variables x and y, the two regression lines obtained are 3x+2y—25=0
and 6x+y—30=0. Find
(1) Value of y when x = 12 and, (ii) Value of x when y = 25
x 8 y b vercea ufb fSqel @l Ae (IR, 3x+2y—-25=0 @R 6x+y—-30=0;
faefa e
(1) -9 M RS x = 12 gR (11) x-GF NF I¥F y = 25.

(d) Define cost of living index number and mention its uses.
G 3 R 5 R 900 F @RI 2 @2 4@ pF IRAF IR Sead
I

(e) Explain infant mortality rate. Discuss its limitations.
TR _3[ora 2 I RN 92 2R @3 HREore e S B

(f) What is ‘Analysis of Variance’? Explain briefly. In this respect explain the term
‘Sum of Squares Between groups (SSB)’ and ‘Sum of Squares Within groups
(SSWy’.

‘Analysis of variance’ I#10® I @I 9 FREFCA I TR | @2 @S ‘SSB” @R
‘SSW’ @2 7 5 7l F @R W Ol DA FCE |

3. Answer any two questions from the following:

faferie Q- 7/ et Ten wies

(a) (1) The expenditure of 1000 families is given below.
1000 =i <7067 299 s e zo)

Expenditure (%) 40-59 | 60-79 | 80-99 | 100-119 | 120-139
SE(1Y

Number of families | 50 N 500 1 50
RIERICERS]

The mean and median for the distribution are both ¥87.50. Calculate missing
frequencies and then calculate mode.

I ARy Rerewba 16 @ N 7ibi2 787,50 2, OiEGe weld Rl 1t @)
fRete @ R <ieE A= 6 S|
(i) Explain Quartile deviation as a measure of dispersion.
Rgfen “Ifwio 231103 5gd 21T (Quartile deviation) BTG FC |
(b) (i) Calculate standard deviation when values of the variable are:
e amefem o e Rgfe M s
1,3,5,7,9,............ ,23,25. n=13.
(i) For a symmetrical distribution, Q; = 24 and Q3 = 42, find the median.
@b & (symmetrical) ReIGCTR (FCT, Q) = 24 @R Q3 = 42, SKIAF A
e s
(i) Discuss briefly different measures of skewness.

eforgac [fen #imietafe Sewes St T

2061 2

3+2

3+2

2+3

10x2 =20

5+2



CBCS/B.A./B.Sc./Hons./2nd Sem./ECOACOR04T/2020

(c) (i) Distinguish between the concept of ‘correlation’ and ‘regression’ of two
variables.

i beTcea W S @ fNeareta iaet ey ANy oot e

(i) Find the coefficient of correlation between sales and expenses of the
following ten firms.

fSova wift wicha Reen @ <aeea Wy 72efe @iz & s

Firm 1 |2 |3 |4 |5 |6 |7 |8 ]9 |10
gand
Sales (in thousand units) 50[50(55]60|65|65|65|60 60|50

ey (o 3 F)
Expenses (in thousand rupees) | 11 | 13 | 14 |16 |16 | 15| 15|14 |13 | 13
<5 (SR GIFI)

(d) (i) Show that Marshall-Edgeworth price index number is the weighted
Arithmetic mean of price relatives.
(e @, Marshall-Edgeworth SR I 261 &0 Seoifs W oye
Tifers 57T |
(i) From the following data, for towns 1 and 2 separately, find
A. Crude death rates (CDR)
B. Specific death rates for each age group (ASDR)
Briefly comment on the results.
0N &ve O (U, ¥4 1 GR 2-G3 &) JEMISIE e sl

() %1 T2 (CDR)
(¥) e grzia e -7 &) (ASDR)
2% B (results) R FRTHCA (SR OIS T FCA|
Age group Town 1 *2q 1 Town 2 *12g 2
(years)
R @@
(=)
Population | Number of deaths | Population | Number of deaths
TR BICIERZE) SR BRI

0-9 1,500 45 6,000 150
10-24 3,000 15 5,000 20
25-44 5,000 30 6,000 30
45 and over 500 12 3,000 54
Total 10,000 102 20,000 254

N.B. : Students have to complete submission of their Answer Scripts through E-mail / Whatsapp
to their own respective colleges on the same day / date of examination within 1 hour after
end of exam. University / College authorities will not be held responsible for wrong
submission (at in proper address). Students are strongly advised not to submit multiple
copies of the same answer script.
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WEST BENGAL STATE UNIVERSITY
B.A./B.Sc. Honours 2nd Semester Examination, 2019

ECOACORO03T-ECONOMICS (CC3)
Time Allotted: 2 Hours Full Marks: 50

The figures in the margin indicate full marks.
Candidates should answer in their own words and adhere to the word limit as practicable.
All symbols are of usual significance.

1. Answer any five questions: 2x5=10

-1 2Af515 @irea Teg wes
‘ Distinguish between stock and flow variables in Economics.

PR wepe @ +ifoww veRIfe fiefe fofa
ﬁhat is Okun’s law?
S R FIF T 9
(c) What is balance of payments? /
FTHR TGE FICF (e 2 .
(d) What is transfer income?
TS S HICF T 9
Define MPC and MPS.
AT (SlieRee! 4R A Hey 2Reer e w6 |
(f) Distinguish between autonomous and induced investment.
 FRIFT @ Tge Riawamsra ey side ey vt
¥ Mention the functions of money.
e FIRER SrE IR
Vhat is hyperinflation?
Hyperinflation 3 ©&% il I3 6 2

S

2. Answer any four questions: 5%4 =20
- 1ATG efven Tea wes

“ﬁ' Explain why an economy’s income must equal its expenditure.
55 SRR (NG W1 (G YT T ZCI (FF — I FCA |

) Distinguish between CPI and GDP deflator.

(oI 7 T 9k & G 9 ferpta @z =1 fafa s

2011 1 Turn Over
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What is meant by classical dichotomy?
T FibrE e s & @i g
(d) What is meant by neutrality of money?
T AR S TS & @ 2
What is meant by inflationary gap in Simple Keynesian Model?
T (TR NCCE PRI I 9100 1 @RI 2
(f) Explain how aggregate demand curve can be derived using IS-LM framework.
IS-LM SCets AR (i SifEw it et ol et o — vt e

N

3. Answer any fwo questions: 10x2 =20
@~ %15 eivaa Teq nes
(a) Explain how output, employment, price level and rate of interest are determined 10

under Keynesian Model.
I SOt Getd, AT, iR W3k 0nR 29 Rreies fRdifee = — i )
\ What is multiplier? Discuss the concept of Balanced Budget multiplier using 2+8
IS-LM model and Keynesian model.
@EIE FIS A0 9 IS-LM TG G (SN NCGCER NI JIAG IS @< Lol
I
“Effectiveness of fiscal policy depends on the slope of LM curve” — Discuss. 10

“FFne Ao PSR LM @i St Bk Rea 303 — Sitaivs It

(d) What is full employment? How full employment is achieved in classical model — 2+8
Explain. S :

s R o= I 30 ¢ PIFRIE e o ot s =it =1 o I
AN

X

2011 2
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WEST BENGAL STATE UNIVERSITY
B.A./B.Sc. Honours 2nd Semester Examination, 2019

ECOACOR04T-EcoNoMICS (CC4)

'STATISTICAL METHODS FOR ECONOMICS-I

Time Allotted: 2 Hours Full Marks: 50

The figures in the margin indicate full marks.
Candidates should answer in their own words and adhere to the word limit as practicable.
All symbols are of usual significance.

L. Answer any five questions from the following: 2x5=10 .
faferie -t #ff5f0 evad Ted wies

\/A{ Define continuous variable.
Gf{bes 557 I I0E 9

\\(y/lf z=cx+dy, where ¢ and d are constants. Then show that z =cx+dy
W z=cx+dy @AHe QR J 39, OLA@NE A z=cx+dy

(¢) Explain the measure of relative dispersion.

SRS fRgfon #ffwet e e

\}ﬁ{ Explain ‘leptokurtic’ frequency curve.
‘heptokurtic’ R AT 2 FF A 2

Wit Yx=12, Y y=4, ¥ ¥ =162, 3y’ =196, Y xp=5.2, n=10, find ey

= correlation coefficient.

M T x=12, Yy=4, Yx2=162, Y »*=196, Yxy=52, n=10 T A

\a{rxy A9 9 rxy=51§‘ﬂf%®‘ﬁl
Given r,,=0.6, o, =15, 6, = 2, x=10, y =20, calculate regression equation

ofxony
ReT MCE 1, = 0.6, 6, =1.5, 0,=2, ¥=10, 7 =20, y 43 B x @7 A7 @

IGREEc
(g) What is seasonal fluctuation?

T AR T I 9
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(h) Define crude death rate.
A g 2-aF TR WS | 5

2. Answer any four questions from the following: o Sxd =20

FefeRe @-@Rt o1afb ot Teg me:

\/4 Show that ) |x; — 4] is least if 4 = Median.

i=l
e @ Y |x; - A|-92 M FAST W I 4 = T
=l
(b) Show that standard deviation (SD) of first n odd numbers is equal to SD of first n 5

even numbers.

@8 (@ AT p° YT [ET YA 796 RPfe &4w 7 YT @G WY 7S

Rprfea s

(c) For a certain distribution of weekly expenditure of 200 families, the mean, mode 5
and coefficient of variation were found to be Rs. 64, Rs. 60 and 40% respectively.
Find the measure of skewness of the distribution.

200 =T NART @ @ RewEa @i 6, MAISHAF 8 (SHITEL T
TSI 64 DI, 60 B @32 40% | & wataa #famiet fefy s

~ 9/17 ind X, y and r,, from the following regression equation 5
e e R TRl (S &, y 9 1, @99 efr s

y—1.1x=0.7
x—-0.687y=0.25

(e) Discuss the problems in the construction of index numbers. 5
3 Wt ffite oo Rfen stemef Sits s
\(/f/F ind the mean and median from the following data: 5

fAr5a s FRTIw (A0 51T © WYraE S [T et

Class (=) 36-40 | 41-45 | 46-50 | 51-55 | 56-60 | 61-65 | 66-70

Frequency (2Rl | 14 26 | 40 53 50 | 37 25

3. Answer any fwo questions from the following;: 10x2 =20

feateis - 416 eta Tad wis:

(@) &) Explain skewness of a frequency distribution 5

@ 93 AR Rt cvra &fs taarw ga G I

2061 2
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A

(i)

i{) In an examination nine students obtained the following marks in Mathematios
and Economics. :

@ G 218w g T Q-9 sfte ¢ wdRifsre sl a9«

Roll No. | Marks in Economics | Marks in Mathematics
(TFF ) | (TERfeTe g ww) | (olfTe e E)
1 45. 51
2 60 50
3 32 38
4 46 54
5 31 53
6 30 37
7 58 62
8 56 58
9 47 39

Calculate Spearman’s rank correlation co-efficient.
FoREIETR “ARS 72olfS @ e e
«(b) (i) What do you mean by chain-base Index number?

*[81a 55 9670 i AT 2
2015 2017

Commodity (&) Price Quantity Price Quantity
OB oy | e | (o)

A 6 50 10 56

B 2 100 2 120

C 4 60 6 60

D 10 30 12 24

E 8 40 12 36

Compute Fisher Ideal price index number and verify that it satisfies ‘Time
reversal Test’

Fisher-@ Si3feate wix 53 WA 3y I @ (wte @ @b ‘Time Reversal’
SRV (A BT

\T |

4+3=7
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(c) Obtain apprapriate regression equation. Defend your choice. 8+2

oy fosze @t o s Fodivem e gfe ey

Ageinyears T (IRR) | 56 | 42 | 72 | 36 | 63 | 47 | 55 | 40

Blood pressure (F&b19f) | 147 | 125 | 160 | 118 | 149 | 128 | 150 | 145

(d) (i) What do you mean by a time series? 3
FIAA AR 970 B Q@RIT 2

(i) Fit a:second degree polynomialitrend to the following data and calculate trend 5+2
value for 2016.

57+ (e Raege e AR eRest [t @t @k 2016 AER 23St
= T s

Year (I2) 2012 | 2013 | 2014 | 2015 | 2016 | 2017 | 2018

Sale (in 1000tons) | 37 | 38 | 37 | 40 | 41 | 45 | 50
Ry (7o )

X,
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